I— A B | C | D | E | F | G H | I J
45[1.77] 165 [6.50] 45[1.77]  (4) Mounting Holes Note: Spreader bar
‘ HORIZONTAL MTG DIM for M6 [1/4"] Screws required to avoid Cooling fan location
() ‘ ; ' damage during lifting 9
L < See Detail A for top
2 95[3.74] 65 [2.56] mounting hole 2)-Lifting Hol
b dimensions. ( )®2I0 |[n®go-709]es . 23[0.09]
B — — EAir
f /1\\ S _t—c——=_© ﬁf/ LQ i
.Ci | e e fo) =@ o
2 o E o
o ® o o
g 5 i
_ - < ol ©
amg 8 /. [o) lo) 5
—| = |:>°§°|:: - — °© ©° s @7 [©0.28]
N 8 H [Te)
3 E S |t =g\ Nameplate o S
sl 3 L e (%
I = g N
L
B E o q o VENT SLOTS ON
- = i TRTRTT GA80U4103 \
< .
- © Center of Gravity [¢) :[[[ ][ ONLY
4 ) S Note: Dimensions shown aono [BREE L @13 [30.51]
2} — are measured from the | ;
N : ! Detail A
bottom left mounting hole - I SHPee Top mounting hole dimensions
Sl @ = Scale 1:1
_ 78.9 E Air
S| Max.12[0.47] [3.11] Max.12 [0.47] | 23]0.09]
o — |
5 ©
- 42.5[1.67] 170 [6.69] 42.5[1.67] 82.1[3.23]
HORIZONTAL MTG DIM
1.5 [0.06] 280 [11.02]
— 255 [10.04]
6 OO AL
|wl=IS bt =]
C/C: INPUT VOLTAGE WEIGHT | COOLING
! GA800 3-PHASE (VAC) Kg (Ib) FANS
§ 2138000 200 TO 240 24 (52.8) 2
= 4089000 22 (48.5) 2
3! 4103000 380TO 480 25 (55.0) 2
] — o denotes A-Z
8 —1 DRWN. | J. MATTAS 6-27-18 |TITLE SIZE A ‘PAGE 10F4 REV
YASI(AWA @ —JI [cHKD. |J. PIOTROWSKI |[7-9-18 GA800 DIMENSION DRAWING  [5WGNO. 0
UNITS MM [IN] | TECH. |L. UDDIN 7-16-18 FRAME SIZE 6
SCALE 16 I|APRV. |J CARO 52118 IP20 ENCLOSURE DD.GA80.FR6.1P20




I— A B C | D | E | F | G I H | I J
Terminal and Wiring Information for GA8002138 and GA8004103
1 Base Point of
Terminals Board
Refer to DD.GA80.TERMBOARD
27.6 [1.09] drawing for terminal board details
] Main Terminals
with M6 Screws
| Hex socket cap(WAF:5mm)
, 5&.
2xEMC Filter Main Terminals
Switch with M8 Screws
(EMC Only) = Hex socket cap
_ ) - (WAF:6mm)
%, [} '
0 ~ Main Terminals ~ ©
8 g o0 2F 0 with M6 Screws g =}
= L R~ [
RL1|812 ® B
~ SIS e v ‘?
7oy 10.4 [0.41] Grounding Terminals _
Ty 9 i i S .- with M6 Screws 3
™ o, _ Phillips(+)/Hex head S,
4 =2 < 2xP20.3=40.6 [1.60] (WAF: 10mm) combo <
o — -
53.1[2.09] 25.5[1.00]
— 50 [1.97] 70 [2.76]
T
100 [3.94] 20 [0.79]
° 139.8 [5.50] 2xP20.3=40.6 [1.60]
el !-F-h.
oa (28
6
- — g
- o= e e =0 . |8
— | o © ® o | v 9n
S| 9w S|s 9|¢g Q3 ci/C: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
S = g £ lo~ < E <|E ©9|& GA800 SYMBOL AWG (mm’) SCREW N.m. (Ib.in.)
~ % ~ % ° (ﬁ_(—m_"ﬁ"—(—)— ® ™ %% <5 @l Q| E 2138000 R/L1, S/L2, T/L3 6 - 2/0 (16 - 70) M6 8-9 (71 - 80)
7 ~ |- 0 |- ¢ ) C DA JC ) Lo, €.c r': ) '; o 2 4103000 UITL, VIT2, WIT3 6 - 2/0 (16 - 70) M6 8-9(71- 80)
S|e 5 2 ¢ S =——DT—=—=¢ X ®IBE S¢S s = -, +1 2-4/0 (35 - 120) M8 10-12 (89 - 107)
~ ~ ° DC Pa ¢ > ° @ oQ ~ B1, B2 14 -2 (2.5 - 35) M6 3.0-35(27-31)
€ ¢ Dd ¢ > @ 6 - 4 (16 - 25) M6 5.4-6.0 (47.8-53.1)
-] e e o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 —1 DRWN. [ J. MATTAS 6-27-18 [TITLE SIZE A ‘PAGE 20F 4 REV
YASI(AWA —  [CHKD. |J. PIOTROWSKI _|7-9-18 GA800 DIMENSION DRAWING  [SWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 7-16-18 FRAME SIZE 6
SCALE 15 | aPRV |0 CAIRG CTRT IP20 ENCLOSURE DD.GA80.FR6.1P20




B C D | E | E | G | H

A
I Terminal and Wiring Information for GA8004089
1 Base Point of
Terminals Board
Refer to DD.GA80.TERMBOARD
27.6 [1.09] drawing for terminal board details
Main Terminals
q with M6 Screws
= Hex socket
2 cap(WAF:5mm)
2xEMC Filter rﬁ"
Switeh Main Terminals
EMC Onl
= ( ) r r with M5 Screws _
— . = > Slot(-) = %
[ee] 4
= © = | = =}
< =5 oo oo 2 o
o N N ™~
N N~ ~ —
3 — —
J8L2TAY ~— Bl B2 UT VI
Q00
222996 %
5 0.9 [0.04] - Grounding Terminals
= g [ il | S with M6 Screws ';
™ = _ Phillips(+)/Hex head =
4 S, - 2xP15=30[1.18] (WAF: 10mm) combo i
[e)] ~ N
50.6 [1.99] 17.5[0.69]
L
— 50 [1.97] 70 [2.76]
T T
108.9 [4.29] 4xP15=60 [2.36]
5
ol ]
6
)
— Omm @ o)y EO [p | 8
— — ) -} i m
Q’T % o' c%) 0 o II ﬁ % Dz ciC: TERMINAL WIRE RANGE | TERMINAL CLAMPING TORQUE
~ £ ‘,:‘ £ 5l o I~ E ©|c GA80O SYMBOL AWG (mm’) SCREW N.m. (Ib.in.)
< % 4 % e C HC I HOC— o ™ % % a5 i % 4089000 R/L1, S/L2, TIL3 8-2 (10 - 35) M5 4.1-4.5 (36 - 40)
7 S|k S|F C pJ¢ 17| —1 ) o, sE g - NE UITL, VIT2, WIT3 8-2 (10 - 35) M5 4.1-45 (36 - 40)
= g 3 g E ;E ,r;f: ;E ; °L§ oE 4 g - +1 14 -2/0 (2.5 - 70) M6 5.0 - 5.5 (45 - 49)
~ ~ ° DC Pa ¢ > ° @ oQ ~ B1, B2 8 -2 (10 - 35) M5 4.1-4.5 (36 - 40)
€ ¢ Dd ¢ > @ 6 - 4 (16 - 25) M6 5.4-6.0 (47.8-53.1)
-] e e o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 —1 DRWN. [ J. MATTAS 6-27-18 [TITLE SIZE A ‘PAGE 30F4 REV
YASI(AWA —  [CHKD. |J. PIOTROWSKI _|7-9-18 GA800 DIMENSION DRAWING  [SWG.NO. 0
UNITS MM [IN]| TECH. |L. UDDIN 7-16-18 FRAME SIZE 6
SCALE 15 | aPRV |0 CAIRG CTRT IP20 ENCLOSURE DD.GA80.FR6.1P20




I— A B | C | D E F G
Minimum Installation Clearances Panel Cutout
1 For External Heatsink Mounting Configuration
N 5 (4) - M6 [1/4"]
o, Tapped Hole
) — 239 [9.41]
. v ) -
. . o 210 [8.27]
~ —
- Air S Air =z~ S, 3')
< S 9 =5
] 7 g N ! ©
N
a |
6—=,—=—- AIV
3 |
|
] CUTOUT
]
-l
4 30[1.18] B ) 5 q
/ 30[L18] =) S o}
™ © © o
| 8 g g
5
|
— — = |
: 5 GAIISS
W > |
5 o —_ |
6 4 o —t o -
5 17 .
N S < Air % 01[6.69] g
N [{e]
1 A 255 [10.04]
7
Notes:
Note: Exposed heatsink minimum clearance D = 119 [4.69].
] For alternate mounting configurations, consult manual. Refer to external heatsink instructions document for additional details.
8 @ —1 DRWN. | J. MATTAS 6-27-18 [TITLE SIZE A ‘F’AGE 4 OF 4 REV
YASI(AWA — |CHKD. | J. PIOTROWSKI |7-9-18 GA800 DIMENSION DRAWING  [SWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 7-16-18 FRAME SIZE 6
SCALE 16 | APRY. |1 CAIRO 82118 IP20 ENCLOSURE DD.GA80.FR6.1P20




